

January 10, 2003

Dr. Paul Copeland, Ch. Infrastructure Committee Jonesboro City Council 329 Oxford Cove Jonesboro, AR 72404

RE: Drainage projects

Dear Paul:

On Tuesday, January 7, 2003 I met with Larry Flowers and Steve Kent concerning the resolution that was adopted Monday night by the council concerning the expenditure of monies over \$10,000.00 on projects. I asked them to meet with the City Attorney, Philip Crego, to discuss the spending limit and the current drainage projects. They were unable to meet with him at that time. However, I was told Larry Flowers had sent a memo to the City attorney to get a determination. On Thursday, January 10th, I went to the city attorney's office and met with him concerning that particular issue and the ordinance that was passed by the council in September, 2002.

After consulting with Claude Martin and myself, the city attorney advised that he did not feel the resolution provided the coverage to continue the drainage work. Based on that information, you will find a memo to me dated January 9th from Claude Martin stating the time and date and amount of expenditures on those projects for Tuesday, Wednesday and Thursday. I want to inform the council of the action taken by us so they will know what has transpired.

cc: City Council members
Claude Martin
Philip Crego
Donna Jackson

M E M O R A N D U M

TO:

Mayor Hubert Brodell

FROM:

Claude Martin

SUBJECT:

Ditch Work

DATE:

January 9, 2003

At approximately 11:00 a.m., Thursday, January 9th, I was informed by the City Attorney, Phillip Crego, that the ditch work we have been doing on the eight ditches approved by the City Council in the Fall of 2002 did apply to the Resolution passed by the City Council Monday night, January 6th. I immediately stopped the contractors from working and compiled their hours and total cost for Tuesday, Wednesday, and Thursday. The cut off time Thursday being 11:30 a.m. Enclosed is the total for these three days.

Thank You

Ditch Work

Tuesday, January 7, 2003						
•	Hrs Worked		Rate		Total	Status
Billy Smith Construction	9	\$	80.00	\$	720.00	Invoice #52
	9	\$	80.00			Invoice #52
	9	\$	90.00		810.00	Invoice #52
	J	Ψ	00.00	- Ψ -	010.00	WHO OC HOZ
Brickell Construction & Trackhoe	8	\$	70.00	\$	560.00	Invoice #71
		·		·		
King Contractors	1	\$	80.00	\$	80.00	Invoice #1010
	8	\$	80.00	\$	640.00	Invoice #1010
	6	\$	80.00	\$	480.00	Invoice #1010
Precision Grading & Excavation	10	\$	80.00	\$	800.00	Invoice #2314
	8	\$	65.00	\$	520.00	Invoice #2314
Wednesday, January 8, 2003						
Billy Smith Construction	. 9	\$	80.00	\$	720.00	
Biny Striker Construction	9	\$	80.00	\$	720.00	
	9	\$	90.00	\$	810.00	
	9	Ф	90.00	Ф	010.00	
Brickell Construction & Trackhoe	5	\$	70.00	\$	350.00	
Briokell Coriotaction a Tracking	· ·	*	7 0.00	*	000.00	
King Contractors	8	\$	80.00	\$	640.00	
	5	\$	80.00	\$	400.00	
Precision Grading & Excavation	No Work					
Thursday January 9, 2002						
Thursday, January 9, 2003						
Billy Smith Construction	4.5	\$	80.00	\$	360.00	
Diff Office College College	4.5	\$	80.00	\$	360.00	
	4.5	\$	90.00	\$	405.00	
	1.0	Ψ	50.00	•	400.00	
Brickell Construction & Trackhoe	3.5	\$	70.00	\$	245.00	
				·		
King Contractors	4	\$	80.00	\$	320.00	
	4	\$	80.00	\$	320.00	
Precision Grading & Excavation	5	\$	80.00	\$	400.00	
	5	\$	65.00	\$	325.00	
				\$ 1	1,705.00	

1-8-03



Phone: (870) 932-2438 Fax: (870) 933-4618

CITY OF JONESBORO

P.O. Box 1845 Jonesboro, AR 72403

Ocoinage Oitch INSPECTION FORM

Subdivision (and or location): Word Ditch East
Brickel Const
Date: 1/9/03 Time: 1/30 Contractor (or Owner) Signature: Male Suichell
Contractor (or Owner) Signature:
Comments: Hows provided by continetor For 1/9/03 - 3.5 1/8/03-5
Inspector's Signature:
en e



Phone: (870) 932-2438

Fax: (870) 933-4618

CITY OF JONESBORO

P.O. Box 1845 Jonesboro, AR 72403

Orainage Vital INSPECTION FORM

Subdivision (and or location): Word West Oideh (141) Precision Const.
Precision Const.
Date: 1/9/03 Time: 11:35 Contractor (or Owner) Signature: Date Fasure
Contractor (or Owner) Signature:
Comments: Hours provided by contractor for 1/4/03-312-5 1/8/03-0 Told to Stop all work until authorized by magor 200-5
Inspector's Signature: